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QUESTION 1

Click the Exhibit button. 

Referring to the exhibit, in the USA, which two statements are correct? (Choose two.) 

A. The WLAN with SSID Eero1234 is not configured to industry best practices. 

B. The WLAN with SSID Eero1234 is configured to industry best practices. 

C. The WLAN with SSID NETGEAR24 is not configured to industry best practices. 

D. The WLAN with SSID NETGEAR24 is configured to industry best practices. 

Correct Answer: AC 

 

QUESTION 2

You are the only tenant in a building that has Wi-Fi. At times, the Wi-Fi network appears to be slow and you want to
determine if the microwave oven is causing an issue because it is used throughput the day. Which SLE metric and
classifier should you look at to determine the issue? 

A. throughput/network issues 

B. capacity/wifi interference 

C. throughput/coverage 

D. capacity/non-wifi interference 

Correct Answer: D 

Reference: https://www.mist.com/documentation/radio-management-event-types/ 
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QUESTION 3

Click the Exhibit button. 

Referring to the exhibit, which statement is correct? 

A. The packet capture was taken automatically. 

B. The packet capture was taken manually. 

C. The packet capture will contain full frames. 

D. The packet capture will contain only management frames. 

Correct Answer: C 

 

QUESTION 4

Referring to the exhibit, you asked Marvis to troubleshoot a client. In this scenario, what did Marvis determine? 
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A. two authentication failures over this week 

B. two DHCP failures today 

C. DHCP errors over the past seven days 

D. two authentication failures today 

Correct Answer: A 

Reference: https://www.mist.com/documentation/mist-experience-marvis-client/ 

 

QUESTION 5

Under which hierarchy level would you create a new site configuration? 

A. clients 

B. location 

C. access points 

D. organization 

Correct Answer: D 
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